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9. Explain the trends in industrial production after )
! 1991-92. Also discuss the problems of industrial sector Lo ——
| in India. 16 [ TAE
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| A B aEet @ a | M. A. Economics 3rd Semester Open
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Examination — November, 2018 -
PRINCIPLES OF ECONOMICS
Paper : 16ECO02

Before answering the questions, candidates should ensure that they have
been supplied the correct and complete question paper. No complaint in
, this regard, will be entertained after examination,
T 3 Y 37 8 g qonl 7 ghked av d B g g @

3 7&l Jor T P &1 g0 & GyaT 3w qaw 7 wE 5 Praad 7@
g

{ Note : Attempt five questions in all, selecting one question
‘ from each Unit. Question No. 1 is compulsory.
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1. Answer the follo;ving questions : 2x8=16
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(i) Define economics as a normative science.
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(ii) Define production possibility curve.
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(iii) Define an underdeveloped economy.

(iv) Define. inﬂatién. _
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(v) Define density of population.
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4, Wilat were the cha-racteristics of Indian economy at
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5. Define economic Planning. Also explain the objectives
and emergence of planning in India. 16
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(vi) Explain four positive effects of green revolution.
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(vii) Explain four causes of poverty in India.
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(Viii)Define disguised unempolyment.
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6. Discuss the causes and effects of income inequalities
in India. 16

7. Explain different types of unemployment in India.
Also discuss the causes of unemployment. 16

2. Discuss the nature of economics by explaining
whether Economics is a Science or an Art. 16
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3. 'Problem of scarcity causes the problem of choice'.
Discuss . A 16
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8. Differentiate between agriculture production and
productivity. Also discuss the importance of
agriculture and factor determining agricultural
productivity 16
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